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�&4�	0 &(��� ' �&4��� ��.� ����� �	���-� < +��7 < (&7'&���� .�- '	����� �&4�	 (���-�6

�&' &�&1��5�/��� .� 7��.// ���.�� +��7� < ���4����� �7 &(2�� 	7'���.&0 4�& +&�	���

�;� '2(����� �	.7��

����� 	��&4.	� �'��� ���(&�&5�. .� �����&�.		
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a &� �	.720 � 	7&1��5�.	� < .� �����&�.		 b � ���+&


��&�&.2 =�	�� ���>� ?�	.� (��	 (& (��-&
 a+b 0 � (&

�&-�.&
 '2�&�2 x &.� 1&��%�@
√
a2 + x2 +

√
b2 + x2 �

?�� -��&+& x0 �& ���� �&.�&+& (�4��0 :�& (��&1��7�6

���� ' a+ b+ x2/2a+ x2/2b 0 4�& �'.& ��	..���
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��-�0 ��� �3&5��.	� ��4�
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A���- (�&��&6'2(����/ �	.7� 	7 ������ � (&��7�����- (���&-��.	� n 	 ���	��&-

��	'	7.2 &�.&
 (&'��3.&��	 R� !��	 -���	-���.�� �&�;	.� �	.72 h00 �& .� '2�&��

x 1���� -�.�%�� 7.�4�.	� h B ��7.	�� h0 − h = R(1 − cosα) = Rα2/2 = x2/2R � C+&�

α = x/R (�&'���. 	7 ��.��� ��	'	7.2 	 �&5� -��� �&��4��- h = h0 − x2/2R �
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a
+

1

b
=

1

f
,

+�� f = R/(n−1) .�72'����� G&���.2- �����&�.	�-� H�& 	 ����������� ������ ��6

�������.2
 (�4&�0 ��� �&�&�&+& a = ∞ 0 ��� ��7 �&1	������ .� G&���.&- �����&�.		

&� �	.72� ��	-�.����� 	 ���+�� G&�-� 7�(	�	 G&�-��2 �	.72@

xx′ = f 2 ,

+�� x 	 x′ < �����&�.	� &� (���-��� �& G&���� 	 &� 	7&1��5�.	� �& ���+&+& G&�����

�.� ��+�& (&��4����� 	7 &�.&'.&
 G&�-��2�
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)
.

C �&1	��/;�
 �	.72 &�	. 	7 ���	��&' -&5�� 12�� &��	������.2- ='2(���&6'&+.����

�	.7�>0 &�.��& '&+.���� (&'��3.&��� �&�5.� 12�� -�.�� ��	'&
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	7 G&�-��2 �	.72 (& ��..2- a 	 f � !��	 ��'	.��� :���.0 ��5��� �&4�� 	��&4.	��
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��� .� ' �&4��0 � ' ���5&�� �7&1��5�.	� �&+�� 1���� ��7-2�2- =E.� ' G&����F>0

(�	-��.& ��� .� ���4���� � �/��
 � ��G����-	 7��.	� =(&��&1.�� �-� (� ��I>�
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?�� +�&-���	4���&+& (&���&�.	� 	7&1��5�.	
 (&��7.2 (��������.2� &�	 ��4	 =&.	

(&��� �	.72 (�&3&��� 4���7 G&���>0 (�&3&��;	� 4���7 G&��� =���.&'���� (��������.26

-	>0 � ���5� (�&3&��;	� 4���7 ��.�� =��� 	 	���>� ������4�.	� �'�3 ��4�
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	7 &�.&
 �&4�	 (���-��� =J>0 ���� 	7&1��5�.	� :�&
 �&4�	 K =�	�� ��)0 ���'�>� ��-��	-0

4�& ��- 5� (�������/��� ��� ��4	0 '2%��%	� 	7 J 	 (�&%��%	� �	.7�� �7&1��5�.	�

(���-��� .�3&�	��� ' (�&��&��	0 (&�&5�.	� �&�&�&
 =b> -&5.& &(�������� 	7 G&�-��2
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	7&1��5�.	�0 �&�&�&� -&5.& '	���� .� :���.�0 (���'��.��&�0 ' �&- 4	��� 	 � .�� .�

���4����� �20 &�.��& 5�0 '&�(�	.	-��- &���5�/;�/ ����� ' (��'	��.&- (&�&5�.		

=&12�.&'�..& �/�	 '	����� .&+�-	 '.	70 +&�&'&
 ''��3> 1��+&���� &1��1&��� 	7&1��6
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 	.'���		0 �-� ����� (� ��9�

������@ ?&��7���0 4�& (��-&
 ��40 (�&3&��;	
 	7 J 4���7 ��.�� �	.720 (&(���� ' �&4��

K0 &(������..�/ ��� (�����4�.	� ��4�
0 (�&%��%	3 4���7 ��'2
 	 (��'2
 G&���2�

��	 a < f '23&�	� &��	������.&� b� �&���&�.	� (&��72'���0 4�& ��4	 .	+�� .�

(�������/���0 :���. ���'	�� .������ ��.��& (�������/��� (�&�&�5�.	� ��4�
 � �&
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4���7 �	.7�0 '&�(�	.	-��� ���3&��;	��� ��4	 ��� '2%��%	� 	7 :�&
 �&4�	 (�����4�6
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	7&1��5�.	� .�72'����� �������B &.& .� (���'��.��&��

!��	 &1� ���	��� &��	������.2 =�'&��&'&+.���� �	.7�> 	�	 3&�� 12 &�	.0 .& &.

-�.�%� (& -&���/0 �& G&���.&� �����&�.	� &��	������.&� H�& �����	'�/;�� �	.7�0

&.� .� �&1	���� (��������.2
 (�4&�0 � ������ 	7 .�+& ���3&��;	
��� �7&1��5�.	�

' ���&
 �	.7� -.	-2� 	 �-�.�%�..2�B &.	 ���5� .�1�/��/��� �&���& +��7&-� H�&�

���4�
 (&��7�. .� �	�� ��) �(��'��

?�
��'	����.&� 	7&1��5�.	� �&5� -&5.& .�1�/���� +��7&- 1�7 '���&+& :���.��

!��	 �&1	��/;�/ �	.7� &�&�'	.��� 7�-��.& ����%� G&���.&+& �����&�.	�0 �&0 .�(�	6

-��0 ����&� �'	�	� �����.�&' �	��.& �-�.�%�..2-	 	 '	��;	-	 '.	7 +&�&'&
 +��6�&

-�5�� .	- 	 �	.7&
 =4�& ��.& 	7 ��'&
 ����	.�	 .� �	�� ��)>�

��� 	7�&5�..&� (�	-�.	-& � 
����� �	.7�-� �&:�&-� 	 .� '&7.	��� '&(�&�0 &�6

���� &�-����� a 	 b�

?�� '&+.��&+& ������� G&�-��� ����� 5�0 .& �����&�.	� a 	 b < � &�.&
 ��&�&.2@
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a
+

1

b
=

1

f
,

+�� G&���.&� �����&�.	� f = R/2 0 4�& ��+�& (&��4	�� &���5�.	�- ��4�0 	��;�+& (&�

-��2- �+�&-� "�7�-�����0 7�����& �&�5.& 12�� �&.�	-@ ��+-�.� ' '	�� (&���G��2

'��� �'�� ' �&4�� .� �&1	���� =�G��	4����� �1�����	�>� L��& '��� �'�� �&1	���� (���6

1&�	4���&� 7�����&� ����� ���'.�.	� (���1&�2 y = x2/4f B (��� ��4�0 (���/;�+& �

'2�&�2 H .� �����&�.		 x &� &�	 y0 	 &���5�/;�+&�� ' G&��� =x = 0 , y = f> 1����
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H − x2/4f +
√
x2 + (x2/4f − f)2 = H + f .�7�'	�	-& &� x� �& (�	.�	(� 
��-�0 :�& 	

&7.�4��� G&���	�&'���

������@ �1��	���� ' �&- 5�0 	�3&�� 	7 7��&.� &���5�.	��

�.��&+	4.& �����	'�/;�
 �	.7�0 '2(���&� 7�����& ���� -.	-&� (��-&� 	7&1��5�6

.	�0 4�& -&5.& .�1�/���� ' ��&4.23 %���30 1�����;	3 4�
.	��3 	 ��(�

L�����& �'&1&�.& &� 3�&-��	4���&
 �1�����		 =�-� (� ���>0 ��� ��� '�� �'��� &���6

5�/��� &�	.��&'&� �&:�&-� .�	1&��� ���(.2� ������&(2 < 7������.2��

?�� :��	(�	4���&+& 7������ '�� (��	 	7 &�.&+& G&���� ' ���6

"	�� ����

+&
 �&4.& &�	.��&'2� ���/�� '	�.&0 4�& (�	.�	( 
��-� .� -	.	6

-���.2
0 � :�����-���.2
� !��	 (�&'���	 ��������.�/ (��-�/ �

:��	(��0 �& ' �&4�� ����.	� ��� &���5�.	� &� :�&
 (��-&
 (���

-	.	-���.2
 =�	�� ���>� !��	 5� (�&'���	 ��������.�/ &���56

.&��� 1&��%�
 ��	'	7.20 4�- � :��	(��0 �& ' �&4�� &���5�.	�

(��� -���	-���.2
�

��" ����#����$

H�� &1����� &(�	�	0 	7�4�/;�� :.��+��	4���	� 3�������	��	�	 �'���0 	7&1	���� .&6

'2-	 .�7'�.	�-	� ���
���� ��
�� Φ < :�& (&(�&��� -&;.&���0 	�	 :.��+	�M���0 ��

' �	���-� #�0 	�(�����-�� 	��&4.	�&-� �& 5� ��-&�0 .& &(�������-&� (& �'��&'&-�

&;�;�.	/ =' '	�� �'���>0 	7-������� ' �(��	���.23 ��	.	��3 < �������� �&:GG	6

�	�.� (���'&��@ ��� ���.����.&
 7���.&
 '&�.2 999* NJ =999 .->@ � �� O PQ* �-0 	�	 �

�- O *0**�P ��� ��	 :�&
 ��	.� '&�.2 +��7 .�	1&��� 4�'��'	����.� ��1�	�� '	�.&��	

=λ ' .�.&-����30 K < &�.&�	����.�� 4�'��'	����.&��� ' (�&��.��3>@

λ I)* II* IP* IQ* 9** 9)* 9I* 9P* 9Q* P** P)* PI* PQ*

K *0I )0� P ��0D �)0� R� D90I DD09 QR P�0� �Q0� �R09 P0�

��	'�� '	�.&��	 ����.�'�	'����� �����.�.	�- 	.�	'	�����.23 &;�;�.	
0 .& �&6

+�� &.� 7�G	��	�&'�.�0 -&5.& ������� 	������'�..2
 +��7 .� &�.&'� G&�&:��-�.�&' 	

�'��&G	����&'0 '(&�.� &18���	'.2
�

���� ���
� I = Φ/Ω < �'��&'&
 (&�&� .� ��	.	�� �����.&+& �+��0 ��7-��.&���

��M����0 � (& �'��&'&-� &;�;�.	/ ��	.	�� ��.���� O �-M���� =12'%�� �'�4�0 ���

��.����1�>� H�� ��	.	�� &�.&'.��0 ��� .�� ���� :���&.@ � �� O �MP* �	�2 �'���0 	7��6

4��-&
 ' .�(��'��.		 .&�-��	 �1�&�/�.& 4��.2- ���&- (�&;��	 � �-2 (�	 )*I)09 �

=��-(������� 7��'����'�.	� (���	.2>� ���&
 :���&. (������'���� �&1&
 -��&� &�'��6

��	�0 4���7 �&�&�&� 	7��4�.	� '23&�	� 	7 .�+���&
 (&�&��	� �����	4���	 (&��4�����

�&4�4.2
 	��&4.	�0 (&4�-� 	 ��&1.& 1���� 	7��4�.	� ' �����.2
 �+&��

�&&1;� � �-2 	7��4��� σT 4 ' (&���G���0 � .� �����.2
 �+&� � ���� ' ����.�-

(�	����� �&�� 1/2π� �& (& .&�-��	 	7��4����� 1&��%�0 	 (&��4����� σT 4/π = 31,4

��M����� �&��&���� :�& P* ��0 �& '23&�	�& 120 4�& � �� �&&�'����'��� 0,5235 ��M����0
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	�	 0,5235 ·680 = 356 �-M����0 ���	 12 -2 '	���	 '�� :�& 	7��4�.	� � :GG���	'.&���/

�� "����.& 5� (�	 ��-(������� :���&.� 1S&��%�� 4���� :.��+		 (�	3&�	��� .� 	.G��6

����.2
 �	�(�7&.0 	 '	�.� �&���& -���� �&�� 	7��4�.	� =∼=�M�9P>0 &����� 	 (&��4�����
�	G�� � �� O � �-M�����

��-(� �** �� 	7��4��� �**MIπ ≈ Q ��M����� A��� :�& 7���.2
 �'��0 '2%�& 12

8 · 680 ≈ 5500 ��0 .& ���&� �&�	4���'& �'�4�
 �'.& 7�'2%�.&� �� ��-&- ���� �'��&6

&���4� ��-( .����	'�.	� �* < )* �-M��0 	�	 ∼ � ��M��� #'��&'&
 �(� (&����� ) ÷
� T� L�-��.& ��4%� � �/-	.����.�.23 ��-( E�.�'.&+& �'���F0 	7��4�/;	3 ' 1&���

'	�	-&- �	�(�7&.� =������	 (�&��.�&'>� �&��&���� G&�&-���	� < :�& ��2� G	7	�	

	 G	7	&�&+		0 :�&
 &1����	 �'&
��'�..� .��&�&��� �&.���'��	'.&���� ?�5� ' :���&.�

������ � �-20 � .� ��-(&4��3 (	%�� .� ��.���20 � '���2�

����������
� E = Φ/S < :.��+	�0 &(���6���	 (& �'��&'&-� &;�;�.	/0 (���6

/;�� .� ��	.	�� (&'��3.&��	� "�7-��.&��� �-M-2 O �/��� ?�� �&4�4.&+& 	��&4.	��

� �	�&
 �'��� I : Φ = 4πI, E = I/R2 .� �����&�.		 R� ��'�;�..&��� ' �&�.�4.2


��.� 105 ��0 ���1��-�� ��� �&.�	3 ��1&� .� ��1&4�- ��&�� �** ��� #���&'�����.&0 .��&

��-(� .����	'�.	� &�&�& �** �� .� �����&�.		 � -� !��	 (&'��3.&��� .� .&�-���.�

� �'���0 E = I cos θ/R2 � ����&..&� (���.	� �&�.�4.&+& �'��� 7	-&
 �-�.�%��� (&�&�

:.��+		 	 '-���� � �&��&- &���5�.	� (&7'&���� �.�+� .���(�	'������

�����
� B = I/S < �	�� �'��� � ��	.	�2 	7��4�/;�
 (&'��3.&��	� � ��M� -2 < :�&

1���� .	�0 � � � �-2 < ��	��1 =�1>� ��	 .���&.� (&'��3.&��	 .��& 1���� �� E'	�	-�/F

(�&���	/ .� .�(��'��.	� .�1�/��.	�� $��&��� 4��.&+& ���� .� 7�'	�	� &� .�(��'6

��.	�0 ��� ��� 	 �	�� �'���0 	 '	�	-�� (&'��3.&��� (�&(&��	&.���.2 cos θ� $��&���

#&�.�� ' 7�.	�� 16,5 · 104 �10 '&�&��� ��-(2 .����	'�.	� ≈ �*** �10 �/-	.����.�.2�

��-(2 	 (��-� �'�4	 ��/� ≈ 0,50 (&�.�� ��.� 	 �.�'.&� .�1& ≈ 0,25 �1�

��� %��&����$� �&�����

� (� )�I -2 '	���	0 4�& (&��7����� (���&-��.	� -&5�� 7�'	���� &� 4���&�2� �7-�.�6

.	� n0 �& ���� ��&�&��	 '&�.20 .�72'�����  ���������� � &1����	 (�&7��4.&��	 :��

7�'	�	-&��� &124.& ���1��� ��(�	-��0 ��� '&�2 nF = 1,337, nD = 1,333, nC = 1,331 �

� 	.�����3 	�(&��7&'�.2 &1&7.�4�.	� 
���.+&G���@ F < IQP0� .-0 +&��1�� �	.	� U0 D

< 9QD0� .-0 5����� �	.	� VW0 C < P9P0� .-0 ����.�� �	.	� U� � '�;���'� λ -�.�����0 	

(��'	��.�� 12�& 12 ���72'��� 4���&��0 .& 	��&�	4���	 (�	.��& &�.&�	�� n � ��	.�-

'&�. ' '����-�� �	.	� D .�3&�	��� ' �����	.� '	�	-&+& �	�(�7&.�0 � .�
 &124.& 	

&�.&�	��� �(��'&4.2
 (&��7����� (���&-��.	�� ��� �&�	4���'�..�� -��� �	�(���		

	�(&��7����� ��7.&��� Δn = nF − nC =����.�� �	�(���	�>� ��(�	-��0 ��� ����&� &.�

-&5�� 12�� 0,0213 =��5��2
 G�	.�0 nD = 1,65>0 	 0,0085 =��+�	
 ��&.0 nD = 1,517>0 �&

���� ' (������3 '	�	-&+& �'��� n -&5�� 	7-�.����� (�	-��.& .� (�&��.��

?	�(���	� �'��� 3&�&%& '	�.� .� (�	7-�� C+&� &���&.�.	� ��4� (&����� =�+&�

(�	7-2>·(n− 1) 	 �&5� -�.����� � λ� � 12�� ����	'2� ����5.2� 1�	�	 ��/� +��.�.&�

�����& 	 3�������� A���� ���+&��..23 ��-.�
 (��-& �'�7�. � (&��7�����- (���&-��.	�



���� )�
*�

�(	 
*���
� ��

n� ?�
��'	����.&0 �&:GG	�	�.� &���5�.	� ������ � nB ��&-� �&+&0 (�	 1&��%&- n %	��

�	�(�7&. �+�&' (&�.&+& '.����..�+& &���5�.	��

�& '��	4	.� n ��-�70 	-�/;	
 nD = 2,420 (��'&�3&�	� '��

"	�� ��I�

��-.	 =��1	. < �0RP0 	7�-��� < �09Q>� A��+&���� �(��	���.&


&+��.��0 '2��1&��..&
 /'��	��-	 ' ��4�.	� '��&'0 (&4�	 '���

�'��0 '&%��%	
 ' ��-�.� ' �	��'&
 ��&�&.20 	�(2�2'��� (&�6

.&� &���5�.	� &� .�'	�	-23 7��.	3 +��.�
 	 '23&�	� &(���

' (����.// (&���G��� =�	�� ��I>� C ��-�7� 	 �	�(���	� (&6

4�	 -���	-���.��@ Δn = 0,044� �� �	�(���		 7�'	�	� E	+��F

��-.�0 �& ���� �+& �(&�&1.&��� (����	'����� ��7.2-	 �'���-	0

��7��+�� �'��� ��-�7 '	��. 	�(����/;	- �'��.2� ��4	 1&��%�-� 4	��� (�	+��%�..23

.� 1��0 .�5��	 ���&� ������ �&
 5� G&�-2 � Δn = 0,015 =' &�.&%�.		 44/15 ≈ 3>� C

��1	.� Δn = 0,018 0 	 ���&� &�.&%�.	� 1���� 44/18 ≈ 2,4� "�1	.0 &�.��&0 ��.	��� �;�

	 7� ����	'2
 .�������.2
 �'��� C 	������'�..&+& ��-.� G	�.	��� =��1	4����� &�	��

�	��&.	�> Δn = 0,06 < ��5� 1&��%�0 4�- � ��-�7�0 � n = 2,15 ÷ 2,18 � �� '	� G	�.	�

(����	4���	 .�&��	4	- &� ��-�7�0 (&�� .� (&����(��� �+& 7�'��&-2- ��-�7&-0 � �&-�

5� ��+�& (&��4��� �'��.2� ��-.	0 ���	 '��	�� �+& � �&1�'��-	��

��&(����� ��4 4���7 (�	7-�0 (&��4��- �(���� ' '	�� ��7.&�'��.23 (&�&�� !��	

�	��.�� (���&-��/��� �&�&��	� '&�.2 =1&��%	� 4���S&�2>0 :�& .�72'����� .&�-���.&


�	�(���	�
B ' ����	3 &1���.23 ���4��3 +&'&��� &1 �.&-���.&
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����.&��� �'��&' '	�	-&+& �'���@

λ �Q*÷I9* I9*÷IQ* IQ*÷9�* 9�*÷9P) 9P�÷9Q9 9Q9÷P)* P)*÷RP*
�'�� 
 #  L X � �

� ��&�&.� �&�&��	3 '&�. ����� 	��� C
0 ��.�+�.0 +�--� < �	�(�7&.20 +��.	�2

-�5�� �&�&�2-	 .���&���& ���(�2'4��2� � ��&�&.� ��	..23 '&�. < ��0 -	��	-��6

�&'2�0 ���	-���&'2�0 C��0 ��0 #�0 ?� 	 ����� �'��3��	..2�� # &1�	3 ��&�&. .��

������'�..23 (�����&'�� �	.7� �&5� ��7��+��� �'�� < G&���2 ��� ��7.23 '&�. 1����

' ��7.23 -����3 =3�&-��	4����� �1�����	�>� � �&���'.23 &18���	'�3 G&�&�((����&'
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���4�
 (&�.&+& ��'.&'��	� < �1�&�/�.& 4��.&� ���&� ��&1&�&�0 ��
������ 
�����

����0 ' �&�&�23 ��	.� (�&1�+� �'��� 1&��%� ��7-���0 -&+�� 	7��4��� ' &�����.23 ��6

�	3 �	.	�30 �&&�'����'�/;	3 (���3&��- -�5�� ��&-.2-	 	 -&�������.2-	 ��&'.�-	

:.��+		� !��	 (&�-&����� 4���7 (�	7-� .� ��-(� .����	'�.	�0 '	�.� ����5.�� ���6

(�2'%���� .	�� ��-(2� �7+��.�' 5� .� ����.2
 ��	4.2
 G&.���0 �'	�	- �'� G&.���0

5���2
 	 7���.2
0 ���(&�&5�..2� ���&- =����� ����	 (�&4	3 	7��4��� ����/ �	.	/

9IP7�� 	 ��1��� 9RRY9RD5���>� ��&-.2� (���3&�2 -�5�� '&71�5��..2-	 :�����&..26

-	 �&��&�.	�-	 ��/� ���		0 .�72'��-2� �	.�
4��2-	 �(�����-	B ' -&������3 .�1�/6

������ 1&��%&� �&�	4���'& 1�	7�& ��5�;	3 �&��1�����.23 	 '��;�����.23 (���3&�&'

=(&�&���2� �(����2>� ���7-� ���� 	 .�(���2'.2
 �(���� &� �'&1&�.23 :�����&.&'�

��5�&� '�;���'& 	-��� �'&
 3�������.2
 �(����0 4�- (&��7�/��� (�	 �.��	7��

#�-& �&1&
0 (&+�&;�.	� ' �(�������.23 �	.	�3 +&��7�& 1&��%�0 4�- '.� 	3� �&:�&-� 	7

.�(���2'.&+& �(����� #&�.��0 (�&3&��;�+& 4���7 �&�.�4.�/ ��-&�G���0 '2��7�/���

��-.2� �	.		 (&+�&;�.	� =G���.+&G��&'2>� �&5.& .�
�	0 	7 4�+& �&��&�� 7'�7�2�

��(�	-��0 .� #&�.�� 12� ' �QPQ +� &���2� .&'2
 :��-�.� < +��	
 =X� X�.��.0 ��

�&����>0 .� L�-�� '2����..2
 �&���& ' �QD9 +� =C� "�-7�
>� �� ���� 7'�7� &1.���5�.

	������'�..2
 :��-�.� ��3.��	
0 .� 	-�/;	
 ���1	��.23 	7&�&(&' =-���	-���.2


(��	&� (&�����(��� 4,2 -�. ����>� �-�/��� ������'�..2� &18��.�.	� :�&+& G����0 .&

.��&�&�2� �&(����/�0 4�& :�& �	+.�� 1�����' (& ��7�-�� ?�� ��7�&5�.	� ' �(����

	�(&��7�/� -&.&3�&-��&�2 � (�	7-�-	 =' '	�	-&- �	�(�7&.�>0 �	1& �	G����	&..2-	

��%����-	� �.&+& �(�������.23 (�	1&�&' (�	-�.�/� 3	-	�	 =C
0 ��0 $�">�

"���+�0 ��7�-�����0 �&5� �'�7�.� � �	�(���	6

"	�� ��9�

�
� ����� +&�	7&.����.2
 �&�.�4.2
 ��4 (&(���6

�� ' ��(�/ '&�2 ' �&4��0 3�������	7��-&
 �+�&-

ϕ � .&�-��	� ����&-��..2
 ��4 (&
��� (&� �+�&-

r, sin r = sinϕ/n � ?&
�� �& (&'��3.&��	0 &. 4�6

��	4.& &���7	��� &(��� '.���� 	 �.&'� (&�&
��� �

(&'��3.&��	 (&� ��- 5� �+�&- r0 (&��� 4�+& '2
6

��� �.&'� (&� �+�&- ϕ � ���	���� C+&� (&'&�&��

��4�@ ψ = π + 2ϕ − 4r B �+&� ��4� � +&�	7&.�&-

=.�(��'��.	�0 &����� &. (�	��� � '�- ' +��7> 1����

θ = 4 arcsin (sinϕ/n) − 2ϕ �

��	 -��&- ϕ 	 (&��7����� (���&-��.	� '&�2

n = 4/3 θ ≈ ϕ � ��	 -���	-���.&- ϕ = π/2 θ = 4 arcsin (3/4) − π = 0,25 0

(�	4�- '1�	7	 :�&+& 7.�4�.	� �12'���� ����	-�- θ +��6�& (&����	.�0 � 	-�..& (�	

sinϕ0 =
√

(4 − n2)/3 = 0,86 0 4�& �&&�'����'��� (�	����.&-� �+�� ϕ0 = 1,04 = 59◦ �

C+&� (�	3&�� θ0 = 4r0 − 2ϕ0 = 0,734 = 42◦ �

�&��� �&5��0 �&+�� ' '&7��3� -.&+& ��(��� '&�20 (&� :�	- �+�&- 1���� .�1�/������

(&'2%�..2
 ��&'�.� ������..&+& 	7��4�.	�� ��� '��+�� '1�	7	 -���	-�-�0 1�	7�	�

(& (�	����.&-� �+�� ϕ ≈ ϕ0 ��4	 1���� '23&�	�� (����	4���	 (&� ���	- 5� �+�&- θ0
�;�! 97@A) #
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	0 ���	- &1��7&-0 �+�;������ ?�� (�&4	3 (�	����.23 �+�&' ���&+& �'��	4�.	� ���&��	

.� 1����� ���&� ������..&� 	7��4�.	�0 	-�..& (& ��+� � �+�&- 42◦ '(����	 ��1�0 ���	

��&��� �(	.&
 � #&�.��0 -2 	 '	�	- ' (&�3&��;�/ (&+&��� �767� �	�(���		 ��� ��7.23

�'��&' �+�2 θ0 1���� .�-.&+& &��	4����� 	 '-���& (�&��& ���&
 (&�&�2 E�&�.�4.&+&F

�'��� .� .�1� -2 '	�	- ��� (&�&� < ����+�� ��	 3&�&%�- �'��� 12'��� '	�.� '�&���0

-�.�� �����0 ����+�0 '27'�..�� �'�����.2- &���5�.	�- ' ��(���

��' �&�������� &������

 ��'.2
 (�	1&� < :�& +��7� �&��&���� &. .� �&'��- (&3&5 .� �	.7�0 ����-&��	- (��6

�&-��.	� ' .�- (&��&1.��� "�7.	�� ' �&-0 4�& :���. < ���4���� < �&5� .�3&�	��� '

(���&-��/;�
 ������ ?�� ��7.&&1��7	� (�	-�.	- .� (�	.�	( 
��-�0 � 7��&. (���&-6

��.	� .� �G��	4���&
 (&'��3.&��	@ �+&� (���.	� i = x/R + x/a 0 �+&� (���&-��.	�

r = i/n = x/R − x/b 0 &����� EG&�-��� +��7�F

1

a
+
n

b
=
n− 1

R
.

��	 a = ∞ b = nR/(n − 1) � �&��&���� :�& (&����� 2R0 (&��4����� n ≈ 2 � ��

��-&- ���� ���	��0 '3&��;	
 ' G&���.&� �����&�.	�0 -�.�%�0 ��� ��� �(����	 � +��7�

'2���(��� 3������	�0 	-�/;	
 1S&��%�/ ��	'	7.�� #&&�'����'�..& n (&��4����� 7�6

'2%�..2-� �& -2 7.��-0 4�& n 1&��%�0 4�- � '&�2 =	.�4� ' '&�� +��7 �&'��- 12 .�

��1&���>� ����&-��/;��0 	�	 &(�	4����� �	�� +��7� 1/f = (n− 1)/R ≈ 50 &1���.23

-���&' =�	&(��	
>� � ���+	- �����&�.	�- +��7 (�	�(&��1�	'�����0 	7-�.�� ��	'	7.�

(����.�
 (&'��3.&��	 =3������	��>� ?�� :�&+& .�5.& .� ��� -.&+&@ (�	 a = 10 �-

.��& �'��	4	�� &(�	4����/ �	�� .� �* �(��0 ���� '.���	 -���/ (&(��'�� � &�.&'.&


G&�-� +��7�� "����&�.	�- .�	��4%�+& 7��.	� �4	������ )9 �-0 (�	 R ≈ 2 �- (����	6

4���	 1���&.�4.&��� =1/0,25 �'��	4	'��� 1/f .� ≈ 10T>� # &�.&
 ��&�&.20 4�- 1�	5�0
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� G&���.2- �����&�.	�- f1 .�3&�	��� 1�	7�& � +��7�� �.� ���&	� 	7&1��5�.	� ' �&4��

c@ 1/a+1/c = 1/f1 � ?�� +��7� :�& 	7&1��5�.	� ' �&4�� −c @ +��7 '	�	� ��4	0 �3&��;	���
+��6�& ' 7��2�&�B −1/c+ n/b = 1/f � #����2'�� ���'.�.	�0 	-��- 1/a+ n/b = 1/f1 +

1/f 0 &����� '	��. �-2�� &(�	4���	3 �	� 1/f @ ��� 1�	7�	3 �	.7 &.	 �����2'�/����
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